(S

(nlPeern

19" wall cabinet LINK-9U-600

General information about the product

The cabinet is designed for the installation of telecommunications, electrical, patch cords

and other equipment to 19-inch standard.
The structure of the cabinet is collapsible, consisting of blocks: Ceiling and floor,
connected by frames, removable panels and doors.

Height
Width
Depth

Color
Metal thickness

Product assembly time

Static load

Door opening angle
Cable glands

Level of protection

Door types

o
~
X
)
£
(]
-

Technical description

9uU
600 mm
600 mm

Black (RAL 9005)

Mounting post - galvanized steel
Combining metal $=0,5-1,0 mm

less than 10 minutes

60 kg

120 Degrees

For standard brush seal sizes
P21

tempered glass



o~

(LinldPovar Installation instructions

oo petien v

Doors 1

Back wall 2 1
Base 3 2
Side wall 4 2
Frame 5 2
Rack unit 6 4




1 | |__Screw M6x 12 DIN 7985 |
1| p— 1
o 3033 ‘ I
‘
\
¥
[ Screw M6x 12 DIN965__| |1\
[P {

| Screw M6x 12 DIN 965 |

AR

=~ Screw M6x 12 DIN 7985 |

A ™
= 'l'\\_\. ¥
bes BO08 |
? [, 1
TTLT -y e~ =
\ o = Bramy -
" :".\v\—‘ll\,}}\\\\\“
’ ~ -
' s
- “-—
f =
n W
»|
.x:‘-‘ I
Ml
i i
k1 {R: it
1 B Bl
. { )
| i - E o~
\g\ E
P BNt
] £
G
“B e : ‘}’
| — I
[ttt &
= Screw M6x 12 DIN 965 |

| Screw M6x 12 DIN 7985 |




——

DrnoonmrAnOOOD

oo Sl ]
0 -
- ) ’ o
) l ) 4 A
)]

; 0 l
‘ O
: o| 4

008 g |

3 |

Booth Unit

w mledeledelon

Lol ool el

P

OE RNy

J

———

L8000
—

Ry

- etute

Z

TS

{QQUQUUU;
————

@

\

I\
\‘J:-
ich

g

Back wall

|Screw M4x 12 DIN 965 |

b-.

i B T T e e ek

\ << »

-

wh W

SSASSASAYZZLL

Screw M6x 25 DIN 7985

P aame 3

.

£ L L4 LL LI LI LN

Screw M6x 25 DIN 7985 |

Washer 6 DIN 7980




